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The inverse of a symmetric matrix is ............ (
G L@ T DEPEOLD. v S| B8

B) diagonal £8%

C) skew-symmetric &8 735 D) singular eges
IfP(1,2),Q(4,6),R(5,7),S(a, b) are vertices of a
parallelogram PQRS, then ...P(1,2), Q(4, 6), R(5, 7).S(a, b)

A) symmetric ST

e PQRS 88088 Seotiyyes Booen oD (
A)a=2,b=4 B)a=3,b=4
C)a=2,b=3 D)a=3,b=5
IfKx?+x - 1 isdivided by x +2k , then the remainder is....
Kx?+x-1,x+2k 3 grhos088 385w (
A)-2k-1 B)k-1

CO)4k*+2k -1 D) 4k* -2k - 1

Ifa, b, carein A.P.as well asin G.P. , then ...

a, b, cen,A.P. %% o850 GP. &% DYV .. (
A)a=b# ¢ B)a #b=c

C)a#b #c¢ D)a=b=c

The value of g g8 ><9?17, .............. o0 D0 (
A)9 B)1 03 D)2

Ifapolygon has 44 diagonals, then the number of its

sides are &8 as0gh® Soren 44 wod T ghero Jogg  (
A)11B)7 08 D)9

Ifthe sum of first ‘n’ natural numbers is one-fifth of the sum of
their squares, then ‘n’ is o&& n $sres Sogge Iodo o€

Srodwgos® 5 & Ho&H ©owS N = ..., (

A)5 B) 6 C)7 D)8

The number of the terms in the expansion of (a+b + 1)'°

(@a+b+1)" d58ed® Hmre J0ag wwreenne. (
1
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10.

I1.

12.

13.

14.

A1l B)33 C) 66 D) 55
The co-efficient of middle term in the expansion of (1 +x)!°
D3BeaS® HoggHessn Fw), 9880 ... (
10! 10! 10! 10!
A) Si6l B) 512 0] 571 D) =)

If the roots of the equation ax? + bx + ¢ =0 are negative
of each other, then ....... ax” + bx + ¢ =0 Gwo¥), Soreren

2BTOEEE aoeBE0 BONE ... (
A)c=0 B)b=c=0
Ob=0 D)b=0,c #0

IfA={1,2,3, 4}, then which of the following are function
from Atoitself ?A={1,2, 3,4} eo03:5¢ AHoDAS
(Do (
Af ={xy):y=x+1} B)f,={(x,y):x+y>4}
Of,={xy:y<x } D)f,={x.y):x+ty=5}

Iff: R — R be amapping defined by f(x) =x*+ 5, then
f(x)=....fiR R @daho f(x) =x*+5 3 ddDoHad
$ond, (X)) = ueenneee ( )
A)(x+5)1 B)x-5" O (G-x)!"® D)5-x

Ifnis an even positive integer, then "C_is maximum

whenr=......... ne8 90 3 Jogg wowd, = ... 56

"C. Do HOEED wevoee. ( )
n nt

A)n B)0 0 5 D) %

T34 1254133+ oo 4200 = oo ( )

A) an odd integer devisible by 533 sgrRoSad &2 g Bomg

A

B) an even integer 2.8 $8 g Sogy

Maths
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15.

16.

17.

18.

19.

C)multiple of 10 - &%) greeggsion
D) an odd integer but not multiple of 5
5 &) a,)°aa§2§>a 50 BD o“gygéoaagg

V243 +42=4/3 = v ( )
A) V3 B)% C)% D) /6

SetA={1,2,3,},setB={4, 5, 6, 7}, then number of
injections from AtoB ....... J3w&e0 A={1,2,3,} 85
B=1{4,5,6,7} 0oonddHo A $od B8 @35é

(DHSre oy ( )
A) 144 B) 12 C)24 D) 64

f: R —» R isa function defined by f(x)=10x -7, If g= !

then g(x)=....... f:R >R @hoosm f(x)=10x-73

dDosatosd. g= ! wowd g(x) = ( )

R 1 B 1 c X+7 D X—=7
)1OX—7 ) 10x+7 10 ) 10

The number of bijective functions from set A to itself
when A contains 56 elements 308 A &® 56 Sorese
ORDA H0DA 8 Bydes (HEoasre Sogy ( )
A) 56 B) 562 C) 56! D) 2%

If sum of coefficients of (a + b)" is 4096, then greatest
coefficient is ......0086S° Hrre Hesee Indo 4096

OOV HOR FORED evreeerrmerernes ( )
A) 924 B) 792 C) 1594 D) 1024

Godavari Talent Test X Class

20.

21.

22.

23.

24.

25.

26.

AN AuB)=..... ( )
A)(A " B) B)AUB OA B)B
The distance of the point (x, y) from Y - axis is

Y - 0550509 (X, Y) Hothds $mssm ( )
A)x B)y C) | B) ||
Slope of a line is not defined if the line is ... &8 $8¢Tg aren
QBDOSEBENS, & SEEFT SDHELLID ... ( )
A) parallel to X - axis X -0g5pd8 Srodore &otnob.

B) parallel to the linex -y =0 B & $SroSEore ¢oenod.
C) parallel to the line x + y =0 B % SSroSBorr &oénod.
D) parallel to Y - axis Y - e5pd8 $krod8orr eotnob.

3X+2
Iff(x)= 5x_3

A) f1(x)=1f(x)

,then ISP S ( )

B) f-1(x) =-1f(x)

-1
O) f(f(x)) =-x D' = 19

Decimal form of the numeral (100), is ...

(100), &30 &P’ ... ( )
A)8 B) 100 )4 D) 50

The area of triangle with vertices (-4, 1), (1, 2), (4,-3)
is....... sq. units (-4, 1), (1, 2), (4, -3) Hothiden dopgoreiie
(B3be eegm....... 5. 08w, ( )
A) 14 B) 16 O) 15 D) 18

The triangle joining A(2, 7), B4, -1), C(-2, 6) is ... triangle

DotHHoE DA DE)ES (Bghessm..... (Bgbesdw  ( )
A) equalateral B) right angled
C) isoscels D) acute angled

Maths
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27. Ifa, b, ¢, d, are in GP., then

28

29.

30.

31.

32.

33.

olo

a,b,c,d e GP. &* $H5g008

ol

d b d b
A)E B)g O E D)a

. The equation of the line throgh (1, 2) and perpendicular

tox+y+1=0is...00%55(1, 2) How Bsrx+y+1=0

K83 woore Hot SEFVFP HEEBED vuerernee. ( )

A)y-x+1=0 B)y-x+2=0
Cy-x+2=0 D)y-x-2=0

Slope of the line of 2Sin45°x* + Cos45°y + Tan45° =0
DEECD T°Deeeerrrrnnnnns ( )

A) - Cot60° B) - Tan60° C) - Cosec60° D) - Sec60°

Cos1° Cos2°Co83° ...ocveeveereennne. Cosl79° = ( )

A)1l B) C)0 D)-1

The present day computers are also called ........

(%08 Sogrgeobed ... 0 DT ( )

A)Pascal Machines FHS 1UY)

B) Newmann Machines — $m538 5,

C)Babbage Machines  er@d &S

D) Gates machines 1) BT

Only one even prime is exist in natural numbers ,

quantifire shows. 6660&)5955 2.8 a8 (Hed Kogy &0enod
K0D0T HBETHBEO MBI weverrerrrrreanen. ( )
A) v B F ¢ A D v

Values from classified data, A.M, L, Deviation and C

Maths
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respectively are 45, 40, 25, 10 number of events
observed = .... . &8 $8%)8 Szrodsinood AM, L,
DS08HW, 2083w C Denden SBdre 45, 40, 25 58050

10 ond 3o HBdoTroTe Ko7y ....... (
A) 100 B) 50 C) 150 D) 125
34. Median of first 8§ whole numbers...
SIS 8 B’g)""O;OS"’QJ aéacﬁegﬁéézéw .......... (
A) 45 B) 5 C) 4 D) 3
35. Determinant of nonsingular matrix ..............ceceueee.
odogen 0@ (Bwégr R)q;éézéaa ....................... (
A) less than zero Ko™ BT SENS
QoI BT BN
a8 $EmS0
A %8cs» B

B) greater than zero
C) equal to zero
D)A and B

X 3

36 18|y (1)

=(, then solution set esowsd

A) x=1{2,3} B) x={3,-2}
C) x={2,-3} D) x={3,2}

37. Mean of the first 101 Natural numbers..................
S0&88 101 Hres éoapegeJ P Yo 10 E RPN (

Maths

A)5050 B)51 C) 2025 D) 5151

38. If Aand B are disjointsets A UB= {a,b,c,d, } and

A={a, b, c} then B=.9c»¥ d&en AUB={a,b,c,d,}

So8csim A= {a, b, c} wond B=..... (

39, S (@) = oo, (

)
)
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40.

41.

42.

43.

44,

45.

A) 0 B) 1 O)-1 D) 2 (a? +b?
The ratio in which the X - axis divides the line joining

the points (2, 5) and (1, 9). ..(2, 5) &85 (1, 9) oo
59 Sgrporsnd X - ok Jg8os Q... ( )
A)4:9 B)5:9 0)2:1 D) 1:2

A stone is thrown upwards with a speed 'u' from the

top of a tower. It reaches the ground with a velocity '3u'.
The height of the tower is ( )

2.8 TPomd BeBsn 20U EOTHENE 8 JRBIDE ©b
'3u' HOSKE0E® 8o TOSHE PSS K ...

u 2 £ 4’
A) g B) g C) g D) g
m/s?is the unit of ..... &/3° &8 [HSreassn ( )
A)speed S8 B) acceleration &5essio
C) displacement F(giodo D)time SEOTNW
The Force of gravitation between two bodies of mass 1 kg
each kept at a distance of I mis ( )

1 8.((e(E5s35oe8 e Both Sdyde gy Bedsm 1 .
S0DINE T°¢3 g eeétélzé 2000

A)6.67TN B) 6.67X10°N

C)6.67X10"N D) 6.67X10"'N

The earth attracts a body of mass 1kg on its surface

with a force of ( )

e.81kg (5078 Ko $K)cn g ....0008° 688508

A)IN B) 6.67X10"'NC) 9.8N D) 0.98N
The period of wave whose frequency is 400 Mhz ( )

400 Mhz 850688 s e $8oro 858S seeo...
A)0.0012s B) 0.0025s  C) 0.0015s D) 0.0010s

7
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46. A simple pendulum is transferred from the earth to

47.

48.

49.

50.

51.

52.

53.

Maths

the moon it will &8 e5pPoEEntgPd Hod SoEHd 28

B DBowSHD (
A) Slow down S5 Brpo

B) become faster I5E0 DBIHD

C) remain the same RIS oS

D) None of these Nzt

The permeability of free space is (
%Pééagoés ©0HI0S @°3%¥3®é§

A) 411 x 10""Hm! B) 4I[1x10°Hm'"

C) 411x10"Hm D) 411X 10°Hm"!

The most suitable metal for making permanent
magnetis &S @aIosind%H SAS %o (
A)iron 0388 B) copper 5058
C)steel §S D)aluminium — eemgAcH
The size of the atom is equal to $8Lwe e = (
A)10®*m B)10"°m C) 10" m D) 10°m
lam.u.equalsto 1 am.u. ......... SOIRSEVIRESY (
A)1.67 X10kg B) 1.67 X102%kg
C)1.67 X10%kg D) 1.67 X10%"g

(n+1) value of 4f - orbital is (
4f - sB)erd G0 (N+1) Hesd

A) 4 B) 6 0) 5 D) 7
The most electronegative element is (
©FHE 00eRFWEES SO DB

A) O B) Cl 0) F D)N
The longest and shortest periods are (

P SoBAD P& DO

)
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62. Inelectron transport number of ATP are formed one NADH

A)1 and L0850 6 B) 2 and %8050 6 < & ADH 08 ATP ) A
)6 and 6 1 D) land 560 7 QoE® Baresrs® a8 N oo &0 ... DBROD(A )
A) 10 B)8 )2 D)3
63. One of the following not true ( )

54. The number of moles presentin 7.3 gof HCl ( )

7.3 e, HCI @) 36 o 8oBTRE" 288 SEEn 5o

A)0.2  B) 0.1 C) 0.02 D) 1 A) Fish - two chambered heart 3% - Both Khe SEcbo
55. Arrhenius' theory could not explain the acidic ( ) B) Birds - three chambered heart g, - & Hiehe Sesado
nature of @8205% Rdrposo & wiiEmiY DkBoSBLD C) Mammala - 4 chambered heart §&res srenrvrihe sR)scho
A)HCl  B)HCOOH C)H,S D) Co, D) None of theses Dbt
56. Marsh gas contains sG) arcish BAREONHA( ) 64. Phaogocytes in the blood ..8806%0 #88 Seren  ( )
ACH, B)CH, C) .S D) CH, A) Leucocytes eox& e B)_DE hrot: €S QB(EeR
57. Sweetest sugar Q%) & Ko 388 ( ) y T8 e ot _ vt e
A)sucrose &S B) glucose Kp&'S O) F}lobullns' fjiaaagé)ﬁe.n D)Albm EWNERISSY
65. Antibody ‘A’ is present in a person with blood group .( )
C) fructose E&E D) maltose $&'& . o st
58. The general formula of alcohols is ( ) B8 Sgseer & OF Hgsnrio SRRG” Hotrox
A)C H,  OH B) C H, OH A)A B)O C)AB D)B
C)CH, ., D)CH,  OH 66. Hormones inactive in root growth ( )
59. Animportant by product of soap manufactureis  ( ) Fo BBDBOSE SEgIFH T
Sag) Sairde® Soagos 6 e A)Auxins &S, B)Gibberellins @005
A) So'dlum salts - F&abho oo B) gly<.:e.ral fos C) Cytokinins &85y D) Abscisic acid «8)25 esysn
C)acids e D) fertilizer Stoigen 67. The scientist proved experimentally that the oxygen evolved
60. Which of the following hydrocarbon is liquid at room during photosynthesis comes from water................. ( )
temperature it ¢SECIS $g ES6S TESHS () By HoG BIHE® DB wmd H08 vdeS Dbde
A)ethane &GS B) methane %S OHHOED (BRPEGEEOT DEPDODS TGIE e,
C)hexan 255 D) butane ao5@S A) W.Harvey —daps % B)RobertHill wof &6
61. First formed stable compound in dark phase ....  ( ) ) . .
C)Melvin Calvin 385S 52055 D) None Hbseeh
QL8 SIS Booesed HESTF S0 o
® 68. Photosynthesisis a....... 88eoesids SOTHBAD a8 ( )
A)NADP B)ATP C)PGA D) ATP

A) Photochemical reactioon 5008 83rchi 585

9 10
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69.

70.

71.

72.

73.

74.

B) life process £ 8%

C) Anabolic Qozeal@ D) All eycé
Total number of ATP formed when one molecule of Glucose is
oxidised to CO, and H,O are ( )

a8 Hrps®E o) ofyssnsn S0, CO,Hdan H,0 &od
MY ATP o Sogy =

A) 40 B)38 C) 36 D) 42
One of the following required for both combsution and
respirationesises ok Hdasn FH8ah Both HBgesd

OS5 ( )
A)N B)O, C)CO, D) All ey
Respiratory pigment & Bod &06° a0dg8sm  ( )
A) Chlorophyll  &%6°%& B) Xanthophyll eeog3:&
C) Haemoglobin &aei#9S D) Carotene 388°¢3&
Respiration in tadpole larvaeerE¥é eroxée® axi@as( )
A)Gills Sodyen B) Lungs &23:88&e0

C) Tracheae sratbomegsn D) Skin g5
following are called Afferent nerves....... ( )
TP DO B HEFLD

A) Sensory nerves CRNIAST

B) Motor nerves TPOETLOeD

C) Mixed nereves Qo(Fo Tooen

D) None Db =&

Growth preventing hormone in plants ........... ( )

Emégp@’s 2SS AB8EE éwgéaa ..................................

A)Auxins o8y B)Gibberellins 22803

C)Cytokinins  2&%80:D) Abscisic acid @8R8 wiysn
11
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75.

76.

77.

78.

79.

80.

81.

82.

The number of cranial nerves in man ( )
$5E5HASE EIroethe 1ot R

A)24 B)30 C) 31 D) 43
The place of grey matter in spinal cord is on the .....( )

39 FEnS® ardSB0H B’Jmf’tgo Hot Sew.......
A) Outer side Ie0d griso B)Rightside &&(©&):%

C) Inner side %59 griso D) Left side & (085
The type of respiration in some crabs is ( )

Q) Seee Ssos® GRSV (ETou S

A) Pulmonary $ps B) Cutaneous =58,

C) Branchial e D) Tracheal secsomegsn
Number of lobes present in right lung of man ( )
SPSH H& 632088 e doay

A)3 B) 10 0)2 D)4
Respiratory rate per minute in 50 years man ( )

50 $058)550e HBISE AarIS F(Bse Téx. ...
A)15 times & B) 18 times &

C) 32times & D) 26times &
The length of trachea......................... ( )

SPOOTPERED S veveeeeeieeeieeeieeeean
A)9cm 2o.. B) 13 cm 2o0.&».

C) 12 cm 2o0.&. D) 11 cm 2o.&».
The first mid-term elections to LokSabha were held
in the year. $%8%85% R G088 dYPTen & SoHEE

So&® esbreaw. ... ( )
A)1961 B)1971 C) 1981 D) 1991
In2001 the female literacy rate in India was only  ( )

12
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83.

84.

85.

86.

87.

88.

2001 esoegr SE© (Hse5sw gr8s B0 B o wEoRgEe B0,

A)23 B) 54 C) 65 D) 39

At present the Fundamental Rights are

(SKBS0 (B e ( )
A)4 B)5 )6 D)7

India became a Republicon ....................... ( )

FPBBRE0 KeadolBHn ®and PSTORVE o T N
A)15th August, 1947 ey 15, 1947

B) 26th January, 1950 23558 26, 1950

C) 28th November, 1948 <028 28, 1948

D) 5th September, 1947 208 5, 1947
The special right that safe guards the fundamental rights is

(@PEDE SeEnend é66§03 EoL=V) S ( )
A) Right to property eR) 5

B) Right to education g o8

C) Right to constitutiona remedies oregegoi HOBETE

D) Right to religion LoB5E)

The term Scheduled Castes was first used ( )
31&53"503 Heren ©F) D0 NG GIRPACDS grdd @eﬁ;é&iﬁ(go
A)1909 B) 1919 C) 1935 D)1950
Article deals with Right to life .......... ( )
$00T LN V0DOBODS BT ..

A)17 B)21 C)24 D) 30
Andhra state was created on ....... ( )

©O(FT°H0 ©HBEB0NS BI0......coee.
A)Nov 1,1956 $Ko=b 1, 1956

13
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89.

90.

91.

92.

93.

94.

B)Jan1,1956 &6 1, 1956
C)Aug 15,1947 eifg 15, 1947
D) Oct 1, 1953 &85 1, 1953

Rank of Telugu among world languages ........ ( )
HH0S gPHROS® Bewid R 3;260 ...........

A)17 B) 21 C) 16 D) 22
Upper house in the parliament ........ ( )
SEB00EDE DS v

A) Lok Sabha  &%6%¢5 B) Rajya Sabha Toaggoas

C) Vidhana Parishat er3&85 D) Vidhana Parishat QgedHoRé
The Congress of Vienna put Poland under the control of ...

DHT?) SPoBRR ok B whKoS® Hodod. ( )
A)France (9r)) B) Russia 5,

C)ltaly  =ed D)Holland  &feo&

Charles Albert was the king of ........... ( )
SR INSRCRAL AL e

A)Sardinia 8dc>  B)Tuscany — &x)0

C) Lombardy eoerd D) Venetia 5925

Fascist party was established in the city of ... ( )
EESISY @é & $5K808° (@FBodosas S

A)Milan ool B) Venice SR

C)Rome &% D)Munich SoogDE
The five year plans were introduced in Russiaby  ( )
BgS® H0BDY, (HerdBen (FPEoHoDIB. ...........

A) Kerensky 3358, B) Gorky °6)
C) Lenin 838 D) Stalin TOS

14
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95. The slogan ‘Pan-Asianism’ was given by ........ ( )
05 BASR Sdoend Do SN 3o
A)Japan  earS B) India Bo& A5
C)China 3> D) Koria Syetonv

96. Sarajevo was the capital of ( )

DEB0S® B Toemed ...
A)Sardinia 8dc>  B)Tuscany — &x)0
C) Lombardy ecerg D) Bosnia ENevold

97. “The sunnever sets” appliesto ... ( )
Kméopséa &80003508 B8 H020H0DSH
A)Japan esrS B) Russia BFg
C) England morrots D)Siberia ~ 2A605%e
98. The country which was not amember of Triple Alliance was
BarEE Ererne® B Bren.......... ( )
A) France @R B) Russia BFg
C)ltaly  =ed D)England  morpo&
99. Ferdinad was the prince of ... ( )
Epgwoﬁ &3 B8 dwdoeer ...
A)ltaly  =&d B) Germany %)
C) Serbia 2g)cse D) Austria &(Qose
100. The Battle of Buxar took placein......... ( )
a8)0 Ao @BAY JoHE)BEK0
A) 1744 B) 1754 C) 1764 D) 1864

15



